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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
Oo 2CARE Teq fan
fa) Mention a relationship between the

capital-output ratio and productivity of
capital.
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(2)

(3)

(b) What does 1:( refer“;l_;lequzt:;):s e (h) What is backwash effect?
Domar in his gro eefalela
PO 5 2
TAE 0% fa WRe JwEs
FRNPAPZI K- uef &2 () Define economic growth.
() What is meant by Gini Coefficient? AT e g o |
fafy e e & =2 () Which sector absorbs the surplus
visible hand’ i labour in Lewis model?
d) What constitutes the ‘invisible hand’ in
& the classical theory of growth? - 379 ©FO (IO 442 Tye 2fie e $Re
) T ?
T RS wed T TS’ e afie
= ?
2. Answer the following questions : 2x5=10
i i theory of
(e To whom is the optimum ;
population related? o S
G T ©F FE 790 How ? (@) Is there any relation of per capita
P
income with inequalities of income?
Who has popularized the concept of
i) pop P ST PR e SR SR Rl ek
vicious circle of poverty? R
WREOR 78 5F YR (Rlea Sfem FRe 2
(b) Distinguish between GNP and GDP.
(9) Mention a cause of growing importance 2 A0 o o o T TR TIES A2l
of the technical progress in the growth et |
process. ,
SR elfeRTe IR B - s gFeq Ol (c) What do you mean by human capital?
PR CEY 97 | T e Jferest 6 g 2
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(4)

(d) How can division of labour be an
instrument of growth?

2 R S ol oy i 2

fe) Mention two basic assumptions of

Arthur Lewis theory of unlimited supply
of labour.

S e W DT @ g
SR TEd 347 | : Ry

3. Answer any four of the following questions :

5x4=20
O AR R G SRR ey fye

(@) Mention the
stationary state,

BT wE aRiBrmE Soay < |

() Explain with the help of diagrams the
concept of vicious circle of poverty.

WWW@WPW‘T@WWWI

characteristics of

(c) Explain the
development.

e Wmﬁﬁwww|

basic indicators of
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(5)

(d) What are the shortcomings of Lewis
theory of unlimited supply of labour?

e =i SR @ O FCTRPR &
2

(e) Explain the differnt types of capital-
output ratio.

TerA-Seere Sereq (e eRreHR
el

() Explain Inverted-U’ curve of Kuznets.
FECAB] Inverted-U’ Q=1 R0 3441 |

() What are the conditions of balanced
economic development?

T -Siefoe TaETa v 2

Answer any four of the following questions :

10x4=40

©o 2PIARE T R BRI Teq o

(a) Examine the appropriateness of gross
national income and per capita income
as measures of country’s economic
development.
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(7)
(6) |
; () What is incremental capital-output
; imitation in
(b) Discuss the Harrod-Domar model of ratio? Give its uses and hnuta:tlon
growth. planning. &
?
, SBeF WA AR
AZEpEfesicRue cRoet TS 47 | e e
o ARFTAS G2 HRAGH, T W TS
g : |
(¢) Explain the various obstacles to i
Foepedevelopment | (g) Critically examine the classical theory of
Gtifes T Rfvw AT 01 541 | development.
Getfer T RIS OFC
(d) Explain the indicators of human STRIIC RO 1
development index. Why is it regarded
as a better measure than per capita
income as a measure of development? * ok ok
A T4 ST 559 et e 4 |
R Prea wtafo S e BUSRETE ||
SIISIF TR 7oy Tageq PIE TS e A
A7 ?
(e) Explain the basic ideas of unbalanced
growth strategy. Is it 4 Suitable strategy
of economic development for a
developing country?
TR E wgrin T RN @ 4T
ST O el ST Crge 3 Il
TS 2
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